PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

24th July 2016, 12:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Six people A, B, C, D, E and F are sitting on the ground in a hexagonal shape. All the sides

of the hexagon so formed are of same length. A is not adjacent to B or C ;D is not adjacent
to C or E; B and C are adjacent; F is in the middle of D and C. / ©: @ A,B,C,D,E 3R F 59

W TCHING HT H S 81 TeHT & Tl I3l 1 GaE T TAF I BACHF A A A TSI & ; CAE
FTAAD T BIARCTAHE; DIRCFATF I

Which of the following is in the right sequence? / g & 9 o9 91 HH ﬂﬁ%?
 AFB
* FAE
e B,CF
e DAB
Correct Answer :-B,C,F
2)

Question Stimulus :-

INSAT Master Control Facility is located at: / 'E:I'\a_c." 3T IBEELI '\ﬂ'ﬁ?ﬂ _ﬁ' e %I
® Hassan / A
® Thumba / YT

® Ahmedabad / SlgHqIdI¢
e Cochin / P

Correct Answer :-Hassan / 8949

3)

Question Stimulus :-

()



In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / e uy fr, IR Vs f&d

T E, o A 9 fodl) ueR @ 9W € 3R STt Ueb 31T €| 31T arell JTd $ier |
e Bowl / HERI
® Spoon / dHd
e Tumbler / firemra
* Bouquet / Teigxdl
Correct Answer :-Bouquet / dqxdl
4)

Question Stimulus :-

The minimum age for a person to be the President of India is / HIRd %TI'ECI'F(‘T @ﬁ%ﬁﬂ@ﬁﬁﬁ “gAdH 3Y
et =R

e 18 years / 18 a¥
e 21 years/ 21 CL
e 25 years / 25 a¥

® 35years /35 af

Correct Answer :-35years / 35 94

5)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg& o gﬁlﬁ,ﬁ'ﬁ' e HiY
AN eI I g :

If the day is bright Tuesday then we will play cricket. / af¢ f&= qu d f&am g Hiraar gm
<t g9 fopdpe WaT|

e If the day is Tuesday we will play cricket as Tuesdays are normally bright. /afe fea
HITEaR g1 df g9 Fohdbe T dfe TTaa 3y dik W YU I e gom giar 81

e If it is not Tuesday then it is not bright so we will not play cricket. /Hﬁwqﬁ%
it yu et g5 =&t S saifeng g pde & @

e If we do not play cricket then it is neither Tuesday nor a bright day. /tr%w%
T Qe g a1 7 91 HeaR 78 yu A e g feA g1

©)



* If the Tuesday is not bright then it is not wise to play cricket. / afe HITAaR Wﬁ@?ﬂ
BT 181 § oY fopdhe Wamm W&l 181 3|

Correct Answer :-If we do not play cricket then it is neither Tuesday nor a bright day.

/afe g fopdpe T8l Wad § Ot 7 a1 TR § T8 yu S f&ar gen fe 81

6)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fdwe
gfAg, st ab @1 =} ¥ Fi2 Ry 71 3= & 99+ 2

If the car is new then Raj will not go to the village. / af¢ R 93 & & IS id T) SE|
e If the car is old then Raj will go to the village. / gfe dR g'\"IT-ﬁ IR ﬂ‘i’T:rGITQﬂTI
e If Raj goes to the village then the car is not new. K RIERICE G %a’rmqs‘?é’r%l
* If Raj goes to the town then the car is new. /uﬁmwm%a‘rwﬁél

* If the car is new then Raj will do to the town. /ﬂﬁwﬁ%ﬁww STTUIT |

Correct Answer :-If Raj goes to the village then the car is not new. /H‘I%Wﬂ“'l"q'\_rn‘cn%

@ PR 7S ol o

7)
Question Stimulus :-

If the direction north is to your left, which direction are you heading in? / gfe fexm SR WETQBT%[W %, ol
3y fpafemATe IR e?

® North / 3TR
® South / Gf&or

® East/ RA
° West/'qf%l'q

Correct Answer :-East/ R

8)
Question Stimulus :-

The first month of the National Calendar in India is / HTRd & ?Tgm PAST BT gdl 'FI_Eﬂ:IT %
® Shravana / 4TdUl

(4)



® Phalguna / BTAA
* Karthika / PIfc®

® (Chaitra / %sr

Correct Answer :-Chaitra / 93

9)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg foweq ﬂﬁt{
wil T T HuHY T9 frewsf & av F € @

Statements: / ®Y-:

Some pebbles are stones / $9 G ] W?

Some stones are rocks / P9 Wﬂ%‘ﬁ %
Conclusions: / e

I. Some rocks are not stones / I. $9 i@ﬁ WT&»"[%

I1I. Some stones are pebbles / II. $9 AT Hhe %

® Only conclusion | follows / *Had freed 1 Aeadr %

® Only conclusion Il follows / Wﬁ'@& i frpean %

® Both conclusion | and Il follows /aﬁf foread 1 SﬁT 11 frrped %

® None of the conclusion | or Il folIows/ﬁ'Wﬁf IGTIIH A '(ﬁ'&F q’é’f Froadar %
Correct Answer :-None of the conclusion | or Il follows / e 1arII & @ Eﬁ"j q’&ﬂ fFreaan %
10)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 719 vy &, Ugd o) vl & 9 [FW R I FIE Yy g] 9 R & 0 ug g
ST TR ug & T1d It UBR &7 9 3|

Obey: Defy :: Work: ? / SITRITUTA : faRIY :: ST HIAT: 2
® lazy / 3Tt

® Rest / SRMH

(5)



* Idle / ETAl
® Labour / uf¥yH
Correct Answer :-Rest / 3IRTH

11)

Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are four drawings of boxes with

designs. When folded, which box will it be? / STY 3R W 3rpfa Al U9 wR fewrs=l & w1y fomn a8
foraT Te T feare 8] R fewms 9 999 @t IR IS ] Wits 4 W, S T 991 g2

N\

RSRARAN s
A g

Y

Correct Answer :-

12)
Question Stimulus :-

‘Accommodation’ is related ‘rent’ in the same as ‘journey’ is related to / *3{d ™’ RCIRGH %

v & 39t yeR ¥ foRT @re aEr Hafda § g9
® Luggage / HTHIA

® Expenses / g

(6)



® Tax / P
° Fare/m

Correct Answer :-fare / fomaT

13)
Question Stimulus :-

Which of the following districts does NOT belong to Chambal division? / frrafaf&a forell & ¥ =17 a1 fren
dad YT BT e 82

® Morena / AT
* Bhind / fiiS
® Sheopur / MR
® Datia / T:;'ﬁITIT
Correct Answer :-Datia / &fadT

14)

Question Stimulus :-

Which one of the following constitutional amendments gives constitutional status to the Panchayat Raj institution?

/o @ B 1 GauTfore SR Rrad IS SR $Y Fifqurfore guf dar @2
o 72" /7al
o 73" /734
o 74t /749
o 75t/ 7590

Correct Answer :-73" /73 qi

15)
Question Stimulus :-

Who was known as the “Missile Man of India”? / “HIRd Bl ﬁ'\‘l’l’&iﬁﬁq” o Dl ST U1?
e Vikram Sarabhai / fdspH '\‘lRT'J-I'I'é

* K Radhakrishnan / & RTYTHYUTA

(7)



® Abdul Kalam / gl P cTH

® Homi Baba / Y HTHT
Correct Answer :-Abdul Kalam / 3[qgel beilH
16)

Question Stimulus :-

The train Vivek Express starts from Dirugarh in Assam. Which is its last stop? / ICCED Wﬁﬂ' iﬂ‘llé_ I 3 H

¥ e & & et 31 g Sifew wsTa M §2
® Madurai / UGS
® Mumbai / a§
e Udhampur / YA

® Kanyakumari / m@qﬁ’r
Correct Answer :-Kanyakumari / ml'\ﬁ

17)
Question Stimulus :-

A team of five is to be selected from amongst five boys (A, B, C, D and E) and four girls
(P,Q,R and S). Some criteria for selection are: / U S®I(A,B,C,D,3R E) 3R AR
dSfhai(P,Q,R,3MR S) H & U AN P TP H &T TG BT 2l T B

A and S have to be together. / A 3 S 94 g4 T18TI

P cannot be put with R. / P &1 R & 914 781 ¥@T o JHdll

D and Q cannot go together. / D 3R Q T TIY &l ST b d|

C and E have to be together. / C 3R E T& & 914 811 I1f3TI

e R cannot be put with B. / R &I B & 14 gl ¥@T Sl &l

If two of the members are girls and D is one of the members, the members of the team

other than D are / 3R &9 &1 3l ASHT TSPl ST 3R D IR A TP BT, df D P AfaRea HH F
& gl
o PIQIBIC

* PQCE
(8)



e P,SAB
e pP,S,C,E
Correct Answer :-P,S,A,B

18)
Question Stimulus :-

C V Raman was awarded the Nobel Prize for his work in: / SIS #Is9 83 d A v &
foe Tiee gReR I JwTa faear T e

® Chemistry / I9Td

® Physics / ifaet

* Biology / STafdzT
® Economics / S

Correct Answer :-Physics / Hifaa@!

19)

Question Stimulus :-

Gond Fort is located at____ ./ ms ﬁﬂT_ﬁ R %I
* Khor /@R
* Baldeo Kundi / §cicd HUSI
® Joga/ S
® Deogarh /m

Correct Answer :-Deogarh / aTilTI_GT

20)
Question Stimulus :-

Who established the Arya Samaj? / S THTS FY RITGAT fFa ot
® Raja Ram Mohan Roy / ITSIT ITH HIg 319

® Madan Mohan Malaviya / H+ 1=ﬁ3=r HId

©)



® Swami Dayananda Saraswati /E'I'Fﬁ E,‘TI'IT‘R{ Il
® MG Ranade / THSI TS

Correct Answer :-Swami Dayananda Saraswati /Q'C'ITF& UG Il

21)
Question Stimulus :-

Ajanta caves is located at / 3SidT &Y "I(FI'Q' ﬂ%’f @ %

® Gujarat / JSRTd

® Punjab / USITd
® Haryana / ghvarom
® Maharashtra / HEIRTY

Correct Answer :-Maharashtra / HERTY

22)
Question Stimulus :-

Which one of the following is the highest gravity dam in the world? / faada ca k) gﬁf{ﬂ ¥ Ied SUrgl

TP YT Ta Jie 32
® Beas Dam / SO d1¢Y

® Bhakra Dam / HTEST d1¢

* Hirakud / SRTHS
® Nagarjuna Sagar Dam / =IT‘TIT§i:[ ANR §iY

Correct Answer :-Bhakra Dam / HTGST §i¢

23)
Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFafafad vy & e afe w0 ¥ U=l @) srawt &3 iR 39 a1g e iy v fawenl A @ 9a Iuge
SIHH BT TTT By

1. Reading 2. Composing 3. Writing 4. Printing
1. AT 2. A1 3. o1 4.98018

(10)



e 1,3,2,4

e 2,34,1

e 3,1,2,4

® 3241
Correct Answer :-3,2,4,1
24)

Question Stimulus :-

If shoe means soul, and it’s not soul, then it’s shoe. /‘Clﬁ\_rjﬁﬁﬂ?lﬁ'q’ GI'I?HT%, aﬁ?a's'&rm
el 8, df Ig a1 B

e True / H‘(?r

* False / Ted

e May be / €3r Hohdl %

e Irrelevant / 3UTERIS
Correct Answer :-False / cid
25)

Question Stimulus :-

Which place is called ‘Blue City’ of India? / ®I- Tl S8 B HRa ! "= Rl Fe1 orar 82
* Patiala/ GfeTET
® Jaipur / STYY
® Udaipur / 3GUYR
® Jodhpur / \_rﬁ'il'ﬂ?

Correct Answer :-Jodhpur / SITYQR

26)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg o ﬂﬁt{
it fRu U Y= vd eyl & R § 9& 7:

(11)



Statements: / ®YA:
No chain is ring / Hﬁéﬁq Gl'l]\'oﬁ:lﬁ%
All rings are bangles / 9t siifeui gfeai &
Conclusions: / e
I. Some bangles are rings / I. P9 q%ﬁan]:o"r%
II. Some chains are bangles / II. 9 d9 gf3ai &
® Only conclusion I follows / Wﬁmﬂf I FFreetar %
® Only conclusion Il foIIows/aﬁﬁﬁWﬁ i frpean %
® Both conclusion land Il foIIows/E.']Tﬁ ﬁwcf I 3ﬁ? II foad %
® None of the conclusion l or I follows/ﬁ'w?ﬁf IGTIIH Y ﬁ'&‘ qﬁ e %
Correct Answer :-Only conclusion | follows / Fad ey 1 fAeadr %

27)
Question Stimulus :-

How many numbers immediately follow a letter in the following sequence? / = 3JpH ﬁ, foat '\‘T@Tﬁ Q’\"-ﬁ % il
TP 3MeR & qed 916 872

?2Q>2*H4&KPI?#YS36WATIN@SGB8<+SEZLR7

e 7

Correct Answer :-6

28)
Question Stimulus :-

A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no

break in between. / T® $RUR Tolec #1 3 TR A STF ¢T3 TAF TH A5 W EI A TH SH a1 | 2

e AME MBI TN F R WA TH A 5 e Aa1 21 @Y 3rTeht el A o9 § 20 f3e qar g1 91 e
9% 10 T Y EaT § 3R SIUeR 3 99 W §iT 1 9% 39 19 HI§ R TET A

(12)



If he can skip one of the streets, but has to deliver to all houses in other street, what is the earliest time he can finish

all the streets in a working day"/mﬁwwmmgwmmmﬂ?ﬁﬁmﬁﬁ@ﬁ@ﬁ%
ot v wrd feaw o fora awa a5 wied! @ Sied] I niferal & oY © v ugn g@an g2

e 11.50AM / &% 11.50 Tof
* 11:20AM / 98 11:20 Fof

* 11:10AM / 48 11:10 Fof
e 12:20 PM/ GIUER 12:20 T

Correct Answer :-11:20AM / J&8 11:20 §oI

29)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg foweq gﬁn
Sil 3T 7T HyAY vd el & 9§ TE 2

Statements: / $Y:

Some frogs are fishes / $© He® USferdi &

Some frogs are reptiles / $© e THYT &
Conclusions: / fAsd:

I. Some reptiles are fishes / I. $ TNYT HSToAT &
II. All reptiles are fishes / II. 9t T¥gu woferi §

® Only conclusion I follows / mﬁ'&iﬁ'ﬂf I frepean %
® Only conclusion Il follows /aﬁﬁﬁfwﬂf i fwean %
® Both conclusion | and Il follows /ﬁ foreed 1 GﬁT II fpad %
® None of the conclusion I or I follows/ﬁ'l?ﬁﬁf ITTIIH A ﬁ‘é‘ T-I'ﬁ Freaan %
Correct Answer :-None of the conclusion I or Il follows / ffpdr1arIId @ aﬁs‘ T8I Apedar %

30)
Question Stimulus :-

Headquarters of National Institute of Hydrology is situated in ./ SI&] ﬁ?ﬂ’"[ Caj TI@TT IR FT STl
A R Rl

® Belgaum / ST

(13)



® Roorkee /W&ﬂ
® Kakinada / BTHIHTST
® Bhopal / yiurer

Correct Answer :-Roorkee / SSPI

31)
Question Stimulus :-

is the largest city and commercial centre of Malwa region of Madhya Pradesh / , 4 'FI%'QT Ca

el & $T FaH TST Ve T4 arforedsd g 8
® Bhopal / YIUTA
* Indore / 3G
e Ujjain / S
® Jabalpur / SEAYR

Correct Answer :-Indore / $AIX

32)
Question Stimulus :-

Who founded the Satavahana dynasty? / ATadIg JeTa=l P RITYAT fore= 3t A2
e Kalidasa / Eb-l?ﬁm
* Kanishka / B &h

® Ashvaghosha / 31 ’H'Eh'q

* Simukha/RTg@

Correct Answer :-Simukha / RIg@

33)
Question Stimulus :-

Which dam in Madhya Pradesh holds the largest reservoir in India? / H&I SR H B AT T YR & Jad qsI
ST AT g2

e Tawa Dam /&dl 9iY

(14)



® Indirasagar Dam / E'EQT AR Ty
® Maan Dam / 919 §7¢
® Maheshwar Dam / 'FI%%R' qY

Correct Answer :-Indirasagar Dam /gﬁwwa'r%r

34)

Question Stimulus :-

Ozone layer shields earth from ./ 3NSIH WRd qza'l’r @t _'\q T&IT Bt %I
® Ultra Violet Rays / RTATY fepRoun
® X Rays /T fvon
e Infrared Radiation / 3[aad fafe~ur
® Alpha Rays / 3{¢WBT oo
Correct Answer :-Ultra Violet Rays / RIS fepzon
35)

Question Stimulus :-
Anil told Sally, “"The girl I met at the hotel was the youngest daughter of brother-in-law
of my friend’s mother.” How is the girl related to Anil’s friend? / 3rferer 3 Ieht &Y CIGICIA
“gg dso! foad & gica A firem U1, 98 A3 SRd o ATdT & IaR B A DI At 217 ASH Sfd &
A A P efia 2

* Cousin / T T4

®* Mother / HIdT

¢ Grandmother / arct

e Granddaughter / Uidl
Correct Answer :-Cousin / TaRI g8
36)
Question Stimulus :-

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
30 min to go to the next street. His day starts at 9 AM and finishes off by 4 PM, with an

(15)



hour of lunch break. / T& SIfPT BT 4 Tferal # STF A1 81 ST # 10 W &1 98 SR I H TP ¢4 |

U e @dr @ 3R Ui fiee Ude el & Ude 9X & old 9] $34 & 0l g1 98 308 3rTell welt &

;ﬁﬁimﬁ%gﬂmﬁqwgaﬁwﬁm%aﬁ?4ﬁmﬁmiwﬁﬂﬁ 1908 ST U & W
Ty |

If the postman starts at 2:00 PM. Assuming that he does not take the lunch break, how
many houses and streets will he be able to cover by 4:00 PM? / af¢ Sifésar ugr 299 3U-T
HTH Y& Bl 31 I AF o BI 98 HISH 9% 8] AdT @ df 98 499 a& fba-! Tierdl U fhaq I & 1
faafva sz e

® 10 houses, 1 street / 10X, 1 |

® 20 houses, 2 streets / 20 TR, 2 et

® 30 houses, 3 streets /30X, 3 et

® 40 houses, 4 streets / 40 TX, 4 TTAlt
Correct Answer :-10 houses, 1 street / 10 I3, 1 Tl
37)
Question Stimulus :-

Which Indian has hit the most number of sixes in his Twenty20 international career? / ERIEGiRE R LE] aiﬁ

~20 AP HRER # e Sab e 72
 Harbhajan Singh / TXHEH g
e Kapil Dev / ®fUa dd
® Yusuf Pathan / WP USTH
® Yuvraj Singh / gaxTel g
Correct Answer :-Yuvraj Singh / gavTel (g

38)

Question Stimulus :-

High Court of Madhya Pradesh has its benches in ./ A UK & BRPIC DI
RIS # g

® Gwalior and Bhopal / qIferaR 3R Hiure
® Bhopal and Indore / HUTA 3T SR

® Jabalpur and Bhopal / STd¢IgR 3R T

(16)



® Indore and Gwalior /—&i_ca'{ 3R rferR

Correct Answer :-Indore and Gwalior / E_a? 3R rferR

39)

Question Stimulus :-

Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E U dl 1 BJIEG] LY IBE) % -
1. A, B and C are in Indore and Bhopal. / A, B 3R C EEERQH lﬁmﬁﬁ%'l

2. A, B and E are in Indore and Gwalior / A, B 3{R E ci¥ U4 IferaR # 2|

3. B, C and D are in Raipur and Bhopal. / B, C 3R D I4qR Td W\urd & g1

4. A, E and D are in Gwalior and Jabalpur / A, E 3R D 7R Td SaaqR A &1

5. C, E and D are in Raipur and Jabalpur / C,E 3R D W@Wﬂ?ﬁ%l

In which city there is NOT any branch of B? / {53 36X & B & &g i} zmar =€) €2

® Jabalpur /SIdcTqR
] Gwalior/ﬁﬂﬁﬂ?

e Indore /3"(3?

e Bhopal/ yure
Correct Answer :-Jabalpur / STdelqR
40)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweq gﬁlﬁ,\_rﬁ' TH BI Eﬁ'
AR HFE FIUE T

If the party is over then we will go to home otherwise my mother will get angry. / 3iY

Ordf @aH g TRt € Y 89 TR Id S ST ¥ /T RIS 81 S|

e If I do not go home then the party is not over and my mother will get angry. afe &
TR T WS df urdf @ =81 g8 & iR A9 °T AR 8 st

* My mother will get angry if the party is not over soon. /ﬁﬁﬁWﬁﬁfﬁTﬁ 3R Tl

Seg] 81 @ g5

e If the party is not over then we can wait so that my mother will get angry. / 3R

Tl e T g © oY 9 SVTR BX Uebd § dTfeh A AT RIS 8 S}l

(17)



e If my mother does not get angry then the party is not over but we are at home. /

TR A AT ARTS T Bt & o urd wer 181 g8 © Al g9 W W B

Correct Answer :-If I do not go home then the party is not over and my mother will

get angry. / af¢ & TR 7 9T ot urdl @ =18t §8 8 8NR A3 97 AR &) s

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

What is the average of prime numbers between 50 and 100? / 50 3R 100 & o= & 3
T3l BT 3fiaa I 82

* 73.6
* 734
* 73.8
® 732

Correct Answer :-73.2

2)
Question Stimulus :-

What percent of 11.5 kg is 2 kg? / 2%‘,11, 11.5 feur &1 fopa-n ufe=a 82
® 20%
® 18%
* 17%
® 16%
Correct Answer :-17%
3)

Question Stimulus :-

(6x3) + (42/2)-(17x3) + (15/3) x 3=?
e 5

e 3

(18)



e 6

e 8
Correct Answer :-3
4)
Question Stimulus :-

Complete the series choosing the missing number: / AW IBAT TADHR 4GAT B QR BIFMT :

2,4,6,8,

® 12

e 11
®* 10
Correct Answer :-10
5)

Question Stimulus :-

An aeroplane covers a certain distance at a speed of 240 km/hr in 5 hours. To cover the same distance in 4 hours, it

must travel ataspeedof?/Wsﬂmwmgﬂaﬁuowmﬁﬂﬁﬁsﬁﬁwmal
I B o1 DI 4 4 T 9 B & o, 3 fopat 7ifey o A we= ghft?

e 275km/hr / 275 Tl EeT
e 325km/hr / 325 fopli/EeT
e 280 km/ hr /280 fHI/Eer
* 300 km/ hr / 300 fopHt/geT

Correct Answer :-300 km/ hr / 300 fpH/ger

6)

Question Stimulus :-

Ga | i

A parking lot can hold 96 cars at a time. At a certain instant it was found that of the
parking lot was occupied, how many more cars it could accommodate at that time? / T®

(19)



7

I dic & THATY 96 TSI 3T APl 8| TP FAfda 9y w g8 urn ar fob wifr die 8 T fRIRT g3
39 GHY 9% fhad iR o1 JHEIRT $ JHhdl 82

* 13

° 12

° 11

® 10
Correct Answer :-12
7)

Question Stimulus :-

Two-fifth of one-fourth of half of a number is 25. What is 45% of that number? / TP TSI & AT & W-?ﬁﬂ'l'&; Ca)
SI-UEdaT T 25 81 39 AW $T 45% HIT 82

® 200
® 220
® 230
® 225

Correct Answer :-225

8)
Question Stimulus :-

A watch is sold for Rs. 405 at a loss of 10%.Find the cost price of the watch? / QT:FEI?’:’T 31 10% %ﬂﬂﬂ
W 405 3UA # 39 fear SraT 81 gt 9 R Yo ST udl ame?

* Rs.250/250 00
e Rs. 150/ 150 TUd
* Rs. 450 /450 00
* Rs. 350/ 350 Ul

Correct Answer :-Rs. 450 / 450 U0

9)

(20)



Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / T € TF siae &R} T TS HT THH UART St 7] Teld T Ug<=a|
(i) JH90753276H0
(ii) JH90758276H0
(iii) JH90753276H0

(iv) JH90753276H0

LA

® ii

® iv
Correct Answer :-ii
10)

Question Stimulus :-

In a simultaneous throw of dice, what is the probability of getting a total of 6? / @f T WW‘U%WEI T
HUTGHT 8 39 =T 3 &1 5T Fed 6 812

® 5/36

* 1/6

* 4/9

* 1/12
Correct Answer :-5/36
11)

Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / ¥

ATFfd B T & o =gAaw d@ | fea-t didt Yarei @t smazawdar ghil?

(21)



Correct Answer :-10

12)

Question Stimulus :-

Raghav buys a Nehru coat in Khadi Bhandar whose marked price is Rs. 150.If the discount allowed is

20%, find the discount amount? /QT‘EIHE'ITﬂ WQWW%W ?Wﬁl‘%ﬁaﬁ'ﬂﬁ 150
T g, afe 3TU 20% ot Fe firad! 8, a1 Qe o A &1 ga1 B

e Rs.50/50 $9d
* Rs.40/40 390
e Rs.30/30 %0
* Rs.20/20 %94

Correct Answer :-Rs. 30/ 30 300

13)

Question Stimulus :-

In a certain code language, Zun Tun Lun means Air has smell, Pan Shao Tei means Raman
is smart, and Shao Res Tun means Air is pure, Jut Caz Lim means Don't believe it. Which is
the word for Air in that code language? / {3 WY ®is U ®, Zun Tun Lun &1 94944 § Air

has smell, Pan Shao Tei &1 Hddd % Raman is smart, 31X Shao Res Tun &1 Hddd % Air is pure,
Jut Caz Lim &1 Hddd 8§ Don't believe it | 38 &8 UM # Air & T o1 31eg 82

® Tun

® Jun

(22)



® Shao
® Zun
Correct Answer :-Tun

14)

Question Stimulus :-
P £
The triplicate ratio of ¢ is/ ¢ &1 Jdfu® U@ 8

Correct Answer :-p’: ¢°

15)
Question Stimulus :-
In a certain code language, Zun Tun Lun means Air has smell, Pan Shao Tei means Raman
is smart, and Shao Res Tun means Air is pure, Jut Caz Lim means Don't believe it. Which is
the word for is in that code language? / &t W ®is UM #, Zun Tun Lun &1 Hdad § Air has
smell, Pan Shao Tei @1 Hddd Raman is smart 3R Shao Res Tun &T Hddd % Air is pure, Jut Caz
Lim &1 Hded & Don't believe it | 3 ®is HTWT # js & T =1 7sg 82

® Tun

® Lun

® Shao

® Zun
Correct Answer :-Shao
16)
Question Stimulus :-

If DIAGONAL is coded as LANOGAID, how is RECTANGLE coded? / df¢ DIAGONAL &I
LANOGAID ¥ #IfSd foar SIrar 8, 9 RECTANGLE & 39 Fifsd far wirar g2

(23)



e RECTAELGN
e ELGNATCER
e ATCERNGLE
* CERNATELG

Correct Answer :-ELGNATCER

17)
Question Stimulus :-

A car is running at a speed of 84 km ph. What distance will it cover in 24 seconds? / Th DIX 84 fopet ufer gt &t fa

W T9 TE1 g1 24 Qs W a1 fpa-it gt T wai
* 500 m/500%1
* 560 m /560 {1
* 520m /520 Ht
* 580 m /580 Hl

Correct Answer :-560 m / 560 §1

18)
Question Stimulus :-

Find the value of 2P, / 2P, &T M fA&iierd

® None of these/%‘lﬁ q Tﬁ_'q; T'|g>f

Correct Answer -2

19)
Question Stimulus :-

In the sequence shown below, which figure comes next? / 1 faWr T %4 #, AT MPHid
S It gifi?

(24)



Q00
Q00
o000

GO0
000

Qa0
0G0

Correct Answer :-

20)
Question Stimulus :-

If B 940 x 6B8 = 538332C, where B and C are representing numerals; what is the value of ‘C’? / ?T% B 940 x 6B8 =
538332C, W81 B 3R ¢ WWATH §; dY ‘C’ BT AT FT GRM?

e 3
° 2
e 1
e 0
Correct Answer :-0

21)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ R M AR udi § € R 3 M w1 ¥ e 9uE S99 91 v 781 22

(25)



Nildram Ltd
Ardenham Court
Oxford Road
AYLESBURY
BUCKINGHAMSHIRE
HP19 3EQ

GREAT BRITAIN

(i) Nildram Ltd
Ardenham Court
Oxford Road
AYLESBURY
BUCKINGHAMSHIRE
HP19 3EO

GREAT BRITAIN

(ii) Nildram Ltd
Ardenham Court
Oxford Road
AYLESBURY
BUCKINGHAMSHIRE
HP19 3EQ

GREAT BRITAIN

(iii) Nildram Ltd
Ardenham Court
Oxford Road

AYLESBURY
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BUCKINGHAMSHIRE
HP19 3EQ

GREAT BRITAIN

(iv) Nildram Ltd
Ardenham Court
Oxford Road
AYLESBURY
BUCKINGHAMSHIRE
HP19 3EQ

GREAT BRITAIN

® jv
Correct Answer :-i
22)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁﬁf SER AP SR BY T Tﬁﬁ'ﬂ,’ tabc_d_bc_d_b_

cda
® bacde
® cdabe
® dacab
® dechd

Correct Answer :-dacab

23)

Question Stimulus :-

(27)



7y-5y+y=2y+1, the value of y is / 7y-5y+y=2y+1, ar y @I e

Correct Answer :-1

24)
Question Stimulus :-

In a certain code language, Please avoid drinking means cor jus nel, Drinking is harmful
means nel cun rem, and Avoid harmful habits means jus ben cun. Which is the word for is
in that code language? / ot @ wis HmT ﬁ, Please avoid drinking 1 Hddd % cor jus nel,

Drinking is harmful &1 Gddd % nel cun rem 3R Avoid harmful habits &1 Haad % jus ben cun|
I Bis yTaT # jis & e T 2eg 32

® nel
® cun
® rem
® jus
Correct Answer :-rem

25)

Question Stimulus :-
‘A’ can do a work in 16 days and ‘B’ can do the same work in 12 days, with the help of ‘C’ they did the job in 6
days only. Then in how many days C can alone do the job? / ‘A’ foet o7 &1 16 fe # HT IHar & 3R B’
Sl HH P 12 A1 § X P 8, ‘C’ DI TEraal I I8i4 41F 6 feA1 T w19 &1 T & fo@n at ¢
BTH BT AP fha- feAl § P TPHaT 82

® 44 days / 44 feq

e 48 days / 48 fe

® 52 days / 52 fes

e 56days / 56 fa

(28)



Correct Answer :-48 days / 48 f&9

26)
Question Stimulus :-

In the following q_uestipn, one term in the number series is wrong. Find out the wrong
term. / 79 Uy ¥, T=AT kg H UH UG TAd & oA UG FId D]

1,9,25,50,81

e 381
® 50
® 25
Correct Answer :-50
27)

Question Stimulus :-

Two dice are thrown simultaneously. What is the probability of getting a sum, which is a multiple of 2 or 5? /Eﬁ T

TS 1Y b Y| FoTT TUTAAT § I WS 3 $I oI $A ST O 2 AT 5 82
* 25/36
° 24/36
® 23/36
® 22/36
Correct Answer :-22/36

28)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ S[&R gANR G Bl T aﬂﬁnz : aba_baca_ba_

bacaabac _aca
® cach
® ccab

® caba
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® abcc
Correct Answer :-cacbh
29)
Question Stimulus :-

Complete the series choosing the missing number: / fAgW BT DB 4T@T B TR BICT :

27,23,19,15,

° 11

° 14

e 12

* 10
Correct Answer :-11
30)

Question Stimulus :-

If TRIANGLE is coded as NGLETRIA, how is ‘SAMPLE’ coded? / gfe TRIANGLE o
NGLETRIA ¥ $ifgd fopar Sirar 8, 91 *SAMPLE’ &) 39 $ifed fur Sirar 82

* ELPMAS
e ELSAM
e PLESAM
* PLEMAS
Correct Answer :-PLESAM

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The ultimate source of energy for all living beings is Sun. This solar enegy is trapped by / gl siifaa wforay & m
Fell BT WA T Gd 81 R Fef B fpad gRT UbsT STd 82

® Vacuoles in Ieaves/tlﬁ'l'fﬁ A Rfeaeren alRT
® Chlorophyll pigments / q'Uth_cl quic IRl
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® Leucoplast / 3AUff da® gRT

® Chromatin materials / ﬁﬁ? tIHTQf qlRl
Correct Answer :-Chlorophyll pigments / GUgIRd auie gRT
2)
Question Stimulus :-

The gravity of the moon to that of the earth is / TG @I qﬁﬂ P 3U&T Tdd ?
o 1/4th
° 1/6th
° 1/8th
e 1/16th
Correct Answer :-1/6'"
3)

Question Stimulus :-

The interest on a certain deposit at 4.5% p.a. is Rs. 202.50 in one year. How much will the additional interest in one
year be on the same deposit at 5% p.a. / Tb STHI YRIRT TR 4.5% Ufd 98 I &1 X I Uh af & =T 202.50
*U g1 TP a¥ ¥ 5% ufa af = Y o A I o il R fvaen sifafaa s 8 smonme

® Rs. 20.25
® Rs. 225
® Rs. 250
® Rs.22.5

Correct Answer :-Rs. 22.5

4)
Question Stimulus :-

The following pie - chart shows the percentage of students passed in an examination from different parts of the

country in 1999. / <19 f&aT a7 WIS a1 1999 W =1 & fafys UM # smaifora wdhemen # I<hot o= &1
wfa=ra =it g1

(31)



10%
Orissa
1%

The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / <& faar a1 w1w 37 ET &1 ufawrd <=iiar & gl Ut |awdr (ki) 1999
o Il #t B

2=
RN

Bilar P Hizss VB CHbers

If in 1999 the total number of passed from WB was 160, then how many non — fresher candidates passed the exam
from others? / & 1999 & TFYT &ITel I Fa SV Pt IBAT 160 N, T R Toal A wiem § S0 IR
R Sufiear! &t W@ fea- g

® 1398
e 1588
® 1608
® 1408
Correct Answer :-1408
5)
Question Stimulus :-

If | and m are intersecting lines, | is parallel to another line p and m is parallel to another

line q, then / Tfe | 3T m Ufa=3< I@E &, | T U I@T p P JHIAT € 3 m BIS @M q P AR © a
e p and q are also intersecting lines / p 3% q 4 ufa=3dl Y@ €
e pisparalleltoq / p, q % JHIGR &

® |, p, q are concurrentlines / |, p, q mmﬁ %
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® |, m, qare concurrentlines / I, m, q WTITﬁWrﬁ %
Correct Answer :-p and q are also intersecting lines / p 3R q 4 ufo=sdl Y@@ &
6)
Question Stimulus :-

The separation of the grain seeds from the chaff is called / AT & il HT 'l-@ il YYFHUT
FEard g

° Threshing/aﬁi’ﬂ

®* Weeding / ﬁ?l‘stm

® Winnowing / WcohHl

® Harvest combine/wm
Correct Answer :-Winnowing / wcoHl
7)

Question Stimulus :-

143% of 1985 =? ¥X1900 / 1985 &I 143% =? *1900

® 1.2
* 1.494
® 2494
Correct Answer :-1.494
8)

Question Stimulus :-

statement among the following is false. / fafafead 9 a3 g

® There is no fraction that cannot be represented as a rational number / Hﬁ% Q‘\‘lT i 18Y %, o
TR d@ & wu § Fefua 921 far s @

® A decimal number cannot be a rational number / T$ SHAG AT UTRAYT T=AT 71 81 IHdll

* All negative numbers can be represented as rational numbers / I} BUTH® T uRAYg eI
w0 ¥ Fefia o1 o1 "ot 8
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® There is no integer that cannot be represented as a rational number / Hﬁﬁ g W Tl oy uive
=T & wu | Frefua 71 fear o awarnl

Correct Answer :-A decimal number cannot be a rational number / T&F ST TS URAT TT

g1 g1 gt
9)
Question Stimulus :-

Identify the alloy from the list given below. / =& & 73 T 9@ g &) vga™
® Galvanised Iron / STEIDIR ?n_E!T
® 916 gold / 916 T
® Blue vitriol / rar arur
® Tinned Iron /Wg?{l? ?ﬁ%T

Correct Answer :-916 gold / 916 T

10)
Question Stimulus :-

A parallelogram, which has adjacent sides perpendicular to each other is called a /B

AR IgYe, et ST YoITe T gk & 99aq ¢ Poardl &
® Rectangle / 3™Ad
® Rhombus /'\‘I’H?Iﬁ'l;l\_rr
® Trapezium / HHIH
® Square /HTf
Correct Answer :-Rectangle / 3i[ad
11)

Question Stimulus :-

The following pie - chart shows the percentage of students passed in an examination from different parts of the

country in 1999. / 19 feaT 7T I a1 1999 H ¢ & fafyrs wr A s ufiemaen # S<hvf o &1
wfar=ra =it g1
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The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / <& faar a1 u1w 37 T &1 ufdwrd <=iiar & forglq U=t |rawdr (ki) 1999
o Il &t B

2=
RN

Bilar P Hizss VB CHbers

If there is an increase of 10% and 20% candidates from Bihar and Others in the year 2000 respectively, and the number
of total passed candidates from Orissa in 1999 was 77, what would be the approximate total passed candidates from

Bihar and Others in 2000? / af¢; T 2000 A fIER 3R 3T I & Iufteary Ft = & gfex HH 10
ufer=ra Td 20 Ufa=Ia g5 8, 3R af 1990 H ISHT | Fa il Iufigar) & T=aw 77 <&, 99 af 2000 #
fagR 3R gu Ieal @ pa Wil SHfigarRt P T @y fead! gt

e 210

e 480

e 450

* 500
Correct Answer :-500
12)
Question Stimulus :-

Find the area of the semicircle, which has a diameter of 14 cm. / 3 Gf'ih?[ Ca) W ITd ﬁﬁm, oraer @
14 Y B

° 49cm2/49@1ﬂ2

o 22cm?/223t 2
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e 154cm?/ 154 9HY 2
o 77cm?/77 9t 2

Correct Answer :-77 cm?/ 77 9} 2

13)

Question Stimulus :-

Two Forces of magnitude 100 N & 50 N act on an object in the same direction. The magnitude of the resultant force is
/ & 100 =g 3R 50 Y UNNATU & 9 TP axg W JAMH =1 A ord = &) aomdft a1 &1
afmor @

e 5N/ 5ged
e 50N / 50 e
* 100N / 100 =g
* 150N / 150 <gcd

Correct Answer :-150N / 150 <gcd

14)
Question Stimulus :-

During inhalation, the ribs / 3d:XaTT & SR, ygTedr

® Move outwards / dTgX @I 3R STt %

® Move inwards / 3gR PI 3R 3Tl &

* Move upwards / U P 3R STl &

® Move upwards and inwards / HUR 3fIX 3[R BT 3T STt &
Correct Answer :-Move outwards / STgY &1 3R STdT &
15)

Question Stimulus :-

The following pie - chart shows the percentage of students passed in an examination from different parts of the

country in 1999. / 1= fe&aT AT WIS a1 1909 W =1 & fafys UM A smafora wdhemen # Ihot o= &1
ufer=ra g=ifar g1
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The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / <& faar a1 u1w 37 El &1 ufdwrd <=iiar & forglq U=t |rdaedr (ki) 1999
o Il &t B

2=
RN

Bilar P Hizss VB CHbers

If the non-fresher candidates from UP in 1999 was 60, how many candidates passed the exam from all parts of the

country? / e 3.9 & TR IR Iufieary o T=ar auf 1999 H 60 o, a9 =1 & Tft uri & Fa foraq
Srfgary = udhan o1 Sl fear?

® 500
e 300
® 350
® 450
Correct Answer :-500
16)

Question Stimulus :-

The following pie - chart shows the percentage of students passed in an examination from different parts of the

country in 1999. / <1 feam ar Ui a1 1999 H 21 & fAfHT W A smaifora whemen & S<hof o &1
ufa=ra g=ifar g1
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The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / <& faar a1 u1w 37 T &1 ufdwrd <=iiar & forglq Uit |awdr (ki) 1999
o Il &t B

2=
RN

Bilar P Hizss VB CHbers

If in 1999 the total passed candidates from different parts of the country was 650, then
how many non fresher candidates from Bihar passed the examination in 1999? / Ife 1999

# 3 & faftrer uri @ o Sl Sufiqart @1 w@n 650 ff, 99 f9ER § 1999 # fraq 1R R Swfigar! A
wlem 3ol #1 82

® 200
® 195
® 198
® 204

Correct Answer :-198

17)
Question Stimulus :-

If the amplitude of a sound wave is doubled , how does it affect the intensity of the wave? / 'CI'% & I &b

ST P G FR feam Se o g8 =91 3t digar 1 f5a avg wuifad owar 82
® Intensity gets doubled / fgraT G- &1 WT<ll @
® Intensity remains the same / gaT a4! B @<l &
® Intensity becomes 4 times / Tierdt 4 T g Tl @
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® Intensity gets Halved / GIEGIRE I '63f STt %
Correct Answer :-Intensity becomes 4 times / dieel 4 '{Fﬁ' a STt %

18)

Question Stimulus :-

1f °2:="2 then x is equal to / afy et =24 x & MR B

e 8
Correct Answer :-1/9
19)

Question Stimulus :-

AB is a tangent to a circle with centre O at a point P and OP is the radius through P. Then

3T . / TF g a1 $% 0 § 39 f6g P R AB TS =i Y@ &, fig P & 0 % OP ga &t

* OP||AB

« OPLAB

« OALPB

* OB||AP
Correct Answer :-OP-LAB
20)
Question Stimulus :-

G 64

G235 625
| isa / ’ w__ 7

® Rational number / TRAy =

® Whole number / Juf =T
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® Natural number / UTHfd® BT
® |rrational number / 3URAT HBT

Correct Answer :-Rational number / URAY &I

21)

Question Stimulus :-

The nature of the image formed by a plane mirror is / T HHJ guur g1 e ufafas 6t Wﬁl MKl % -
* Virtual / STHTH
® Erect / Sed-sidf
® Laterally inverted / Ui Sren=ief
® All the above / IWRIad gt

Correct Answer :-All the above / SWRIgd IHt

22)
Question Stimulus :-

Telephone wires sag in summer due to / il | el & dR SHHA Eapf SIG] % DT HIRUT % .
® Excess of heat / HCHI @t 3ffrepdr
® Expansion due to heat / HEHI & HIRUT GHROT
® Faulty fixing / ?.‘a'GITLUf R

® Wear and tear / ¢c-Ppc

Correct Answer :-Expansion due to heat / 5CHI * PRI TR

23)

Question Stimulus :-

Ozone hole is the result of excessive / S g fpas! iikiear & uRua A &
® Burning of coal / HOA P God ﬁ

® Pollution due automobiles / aTfd 'EITE»':ﬁ GIRT Uyl @'
® Use of CFC / JUHHT & ST A
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® Burning of firecrackers /'qa@ & G @'
Correct Answer :-Use of CFC / STHH! & IuaT |

24)
Question Stimulus :-

The organisms that take in readymade food prepared by the plants are called / g oftg S weY
gr1 fAftfa viee w5 #d 8, dgand &

® Auto trophs / U

e Chemo autotrophs / iwuist
® Heterotrophs / U

® Insectivorous plants / a»‘\z'sr\*’t qreu

Correct Answer :-Heterotrophs / GURUIH}

25)
Question Stimulus :-

The food synthesized by the plants is stored in the form of / urei IR Teafta Wi 9 Tu # I Yedl %
® starch/HS
® sugar/ GGl
® protein/ mé
® water /ST
Correct Answer :-starch /HS
26)

Question Stimulus :-

The following pie - chart shows the percentage of students passed in an examination from different parts of the

country in 1999. / <19 a1 74T UTE A 1999 H =1 & fafdrs wr # s udieman # S<ivf o &1
wfer=ra g=ifar g1
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The following graph shows the percentage of students who passed their graduation
(freshers) in 1999. / <& faar a1 u1w 37 ST &1 ufdwrd <=iiar & forglq Uit |rawdr (ki) 1999
H Il &t 21

2=
RN

Bilar P Hizsa VB CHbers

If total passed candidates from UP in 1999 was 112, what is the ratio between the number
of freshers from Bihar and that of non - freshers from Orissa? / df¢ 1999 H3 W H Pl ot

Suiigarl 1 W@ 112 o, 99 IR A HIRI F1 T=T 3R IST T 1R RT3 B & §i" BT Sgura 47
BhIT?

e 760 : 187 / 760 : 187
e 187 :760 / 187 : 760
e 40:11/40:11
* None of these / S0 9 Pl 8l
Correct Answer :-None of these / 9H 4 13 T8I

27)
Question Stimulus :-

Stomata are the pores surrounded by the guard cell in the leaves . They do the function such as / qﬁl’*ﬁ i E-TeET

fog 29 € o gR BIfeT @ R t6d 81 3 Fra ol a4 §
® Exchange of gases / T @1 fafeeg
® Photosynthesis / UBIRA AT

® Transpiration /ET@T\‘IV&'I'
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® All the above functions / B'Qﬂ'fﬁ It b
Correct Answer :-All the above functions / SURIad It &1t
28)

Question Stimulus :-

Leela observed that a pond with clear water was covered with green algae within a week.
By which method of reproduction did the algae spread so rapidly? / @l 1 ddi® fdar fe

1P U BT TP dIeTd Teb Iwig & HiR g1 831 Aa1a @ &b oran g S o1 fobd [ gR1 Karer sa- dsit
¥ U §U?
e Budding / ggaq
* Fragmentation / fags
* Spore formation / siwy e+
* Fission / fauTe=
Correct Answer :-Fragmentation / fods+
29)

Question Stimulus :-

It is instructed not to join the free ends of a tester for more than a few seconds because

otherwise / ¥ =1 f&am v 8 fr wiifgm & o RRY &) $© Awve A e 781 shieT WY wifd o=
® the connection wire will get burnt / TSI IR oI SITAT
® the cells of the battery will get drained very quickly / S¢1 T UPIE Igd STec! TTel 81 STQM
® the bulb of the tester will get fused / TR BT Tod WIS & ST
® the battery will get heated / 3¢} T B wTEf

Correct Answer :-the cells of the battery will get drained very quickly / aﬁ BT UHIF dgd Sed! @Telt 8t

30)

Question Stimulus :-

The maximum value sin & can take, when & is an acute angle is ./ afe o Th

YAHIUI §, 99 sin O 1 aiftrran ur & wwa §

1
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Correct Answer :-1

(44)



